
(Regular Representations)
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r;’  = ii’(t)  , tt  I . . . . . ..(3.1.1)

r1 = r,(t), r2 = r*(t), r3 = r3 (t), tEI . . ..(3.1.2)
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x = r cosd , Y = r sin@

.
. . x = (2cosf3  -l)(cosB)

i
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Y = (2cosEf-l)(sin@)

3
R = cos(y(2cosB-l)Gsin8.(2  cos 6 -1);

.

;" 3.1.2

;I = I-4sinBcosCl+sinB]~+[*cosP-2 sin2 g-cos8]  7

zv d .brv,  A
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I ;q = [(- 4sine c&B +sin@)*+(2cos$ -2sin&-co,*  )2
I 'I2

z

I
16sin2ecos2&-8sin2@cos6+sin 5 +4sir&+4cos4@-8sin'$ cos&
+4sin$-cos@ -4cos~+cosI6  2 3 1/2

=
I +I
8sin c.os&-4sin&.cos@ +4sin4B+4cos4W.~4cos~,+(sin~+,os~)2 II?1

= [(4sin'Lg-+8singcos2B-+4cos48)-(4sing  cos@+4cos~)+1]1/2

= I 4(sin&,+cost  43 .)* - 4cos@  (sin?@+cos'& )+l1 1/z

xc (4-4co:;g  +1) 112

= &zFfg # 0 h&J8  1” “i f-h

ii&l ;;‘; # a @Ball

i;)(tl) = Z(t,,

‘.
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I II&jd%= -a sir@? f a KJ&J
I

= a2sin$+a2cos~

@I= @0 ’ e2 = ‘Bo+2T
-,
RI = a cosWoT+  a sin@oT
-4
R2 = a cos(00+2T)S-a  si11(&~+2X)j+

= a cosBoT + a sinvoy

d3; #6
3 -3

2 IL6 R1 = R2
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pJ  3.1.3

dx dY 0-=- =
dt dt
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a;i tl = -1/2rN  ttd:  t2 = 1/27fN

ixlh~i
x(t,) =

1
41r2N2

= x(t,$

b10: Yhl) = 0 =
4*

sin 2TN = Yb2)

y 3.1.4
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x2+y2=  1 tq 53.i7u~&un&u x+y+z  = 1
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2 = [COS e(tjj[  2c0s a(t)-11  ?+ [ sine(t)][ 2 cos~B(t)-l]  3,

a b

i;L’ 3 . 2 . 1
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t= rdt
0

= rt

bmr t = s/r

:. Gs) = r chs(s/r)T+  r sin (s/r);

@%l~f 3.3.3 1; R' = a cos wt? + a sin wt?+ btit

d; = -aw sin wt'ic+  awcos wtT+bc
dt

I I
di =

'
a2w2sin2wt  tr a2w2cos2  wt +b2

dt
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R = cos  tf + sin ty + ti?, t>o

->
R = ~0s  t7 + sin ts  + ti:

4
R = (l+t)T  - t2;  + (1+t3 ,;:

G t=1

n. iT = (1+t)f  + (3-t)? + (2t+4)iz,  t = 3

91.  2 = etcos  t-2 + etsin  t2 + eT,  t = 0

fl. 2 = (et/2 +,-t/2  ,;‘+ $12  -,-t/2 ,T+ 2t;’
, t = (J

J.  ;;’ =  3tz  +  3t27+  2t3izI t = 1
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